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%HDULQJ�VHOHFWLRQ
$LUFUDIW�EHDULQJV�IURP�0F*LOO�PHHW�DLUFUDIW�VSHFLILFDWLRQV
DQG�DLUFUDIW�TXDOLW\�VWDQGDUGV�
1%&�VHULHV�EHDULQJV�DUH�GHVLJQHG�IRU�DSSOLFDWLRQV�ZKHUH
WKH�EHDULQJ�2�'��FDQ�EH�VXSSRUWHG�LQ�D�KRXVLQJ�DQG�DUH
VXLWDEOH�IRU�VORZ�URWDWLQJ�RU�RVFLOODWLQJ�DSSOLFDWLRQV�RQO\�
1%(�DQG�1%.�VHULHV�EHDULQJV�DUH�IRU�KRXVLQJ�VXSSRUWHG
DSSOLFDWLRQV�ZLWK�VORZ�URWDWLRQ�RU�RVFLOODWLQJ�PRWLRQV�RQO\�
,I�SURSHUO\�PRXQWHG��WKH\�ZLOO�DFFRPPRGDWH�����PLVDOLJQ�
PHQW�XVLQJ�D�VHOI�DOLJQLQJ�DGDSWHU�ULQJ�
1%)��1%/��$)&�DQG�$/�VHULHV�EHDULQJV�DUH� IRU�XVH� LQ
DSSOLFDWLRQV�ZKHUH�WKH�EHDULQJ�2�'��LV�XQVXSSRUWHG�DQG
ZLOO�VXSSRUW�KHDY\�UROOLQJ�ORDGV�LQ�FDP��RU�WUDFN�VXSSRUW
DSSOLFDWLRQV�

$LUFUDIW�VWDWLF�FDSDFLW\�
$LUFUDIW�VWDWLF�FDSDFLW\��$6&��LV�WKH�PD[LPXP�ORDG�ZKLFK
FDQ�EH�SODFHG�RQ�D�KRXVLQJ�PRXQWHG��QHHGOH�UROOHU�EHDU�
LQJ� ZLWKRXW� VHULRXVO\� EULQHOOLQJ� WKH� UDFHZD\V� �DSSUR[L�
PDWHO\��������GHSWK��RU�GHIRUPLQJ�WKH�UROOHUV�

/RDG�UDWLQJ�
7KH�DLUFUDIW�VWDWLF�FDSDFLW\�OLVWHG�IRU�WKH�1%&��1%(�DQG
1%.� EHDULQJV� FRUUHVSRQGV� WR� WKH� XOWLPDWH� VWDWLF� ORDG
UDWLQJ��7KH��OLPLW�ORDG��UDWLQJ��ZKLFK�LV�WKH�PD[LPXP�VWDWLF
ORDG� WKDW� FDQ� EH� DSSOLHG�ZLWKRXW� LPSDLULQJ� VXEVHTXHQW
G\QDPLF�RSHUDWLRQ��LV�����$6&�
,Q�WKH�FDVH�RI�WKH�1%)��1%/��$)&�DQG�$/�EHDULQJV��WKH
XOWLPDWH�VWDWLF�ORDG�UDWLQJ�LV�UHGXFHG�WR�����$6&�EHFDXVH�RI
WKH�XQVXSSRUWHG�RXWHU�ULQJ��7KH��OLPLW�ORDG��UDWLQJ�OLVWHG�LV
WKH� PD[LPXP� VWDWLF� ORDG� WKDW� FDQ� EH� DSSOLHG� ZLWKRXW
LPSDLULQJ� VXEVHTXHQW� G\QDPLF� RSHUDWLRQ�� 7KH� G\QDPLF
UDWLQJ�IRU�WKHVH�EHDULQJV�LV�OLVWHG�DV��FDSDFLW\�DV�D�WUDFN
UROOHU��DQG�LV�����$6&���&DSDFLW\�DV�D�WUDFN�UROOHU��LV�EDVHG
RQ� WKH� DSSOLHG� G\QDPLF� ORDG� IRU� DQ� /

��
� OLIH� RI� ������

UHYROXWLRQV�

7HPSHUDWXUH�
7KH� XQVHDOHG� DLUFUDIW� EHDULQJV� FDQ� EH� RSHUDWHG� DW� D
PD[LPXP� WHPSHUDWXUH� RI� ����)��� SURYLGHG� D� VXLWDEOH
OXEULFDQW� LV� XVHG�� ([SRVXUH� WR� KLJKHU� WHPSHUDWXUH� ZLOO
UHVXOW� LQ� ORVV� RI� FDSDFLW\� GXH� WR� UHGXFWLRQ� LQ� PDWHULDO
KDUGQHVV�
,Q�WKH�HYHQW�EHDULQJV�IRU�KLJKHU�WHPSHUDWXUH�HQYLURQPHQW
DUH�UHTXLUHG��FRQVXOW�0F*LOO�(QJLQHHULQJ�'HSDUWPHQW�
7KH�PD[LPXP�FRQWLQXRXV�RSHUDWLQJ�WHPSHUDWXUH�IRU�VHDOHG
EHDULQJV�LV�����)��DQG�LV�OLPLWHG�E\�WKH�VHDO�PDWHULDO�

/XEULFDWLRQ�
1RUPDOO\��DOO�DLUFUDIW�EHDULQJV�IURP�0F*LOO��DUH�SUH�OXEUL�
FDWHG� ZLWK� JUHDVH� SHU� 0,/�*������� ZKLFK� KDV� D� VDIH
RSHUDWLQJ�UDQJH�RI������)��WR������)��+RZHYHU��VSHFLDO
OXEULFDQWV�PD\�EH�VXEVWLWXWHG�XSRQ�UHTXHVW��:KHQ�VXS�
SOLHG�ZLWK�D� VSHFLDO� OXEULFDQW�� WKH�SDFNDJH�PDUNLQJ�ZLOO
KDYH�D�VXIIL[�FRGH�DIWHU�WKH�EHDULQJ�QXPEHU�IRU�LQWHUQDO
IDFWRU\�LGHQWLILFDWLRQ�

(1*,1((5,1*�6(&7,21

$OLJQPHQW�
,Q�DQ\�IXOO�FRPSOHPHQW�W\SH�QHHGOH�EHDULQJ��JRRG�DOLJQ�
PHQW�LV�D�QHFHVVLW\�IRU�REWDLQLQJ�RSWLPXP�EHDULQJ�OLIH�
*RRG�DOLJQPHQW�SURYLGHV�XQLIRUP�GLVWULEXWLRQ�RI�WKH�ORDG
RYHU�WKH�HQWLUH�OHQJWK�RI�WKH�EHDULQJ�
,Q�WKH�HYHQW�JRRG�DOLJQPHQW�LV�QRW�HFRQRPLFDOO\�RU�PH�
FKDQLFDOO\�SUDFWLFDO� IRU�D�KRXVLQJ�PRXQWHG�EHDULQJ�� WKH
1%(� DQG� 1%.� VHULHV� EHDULQJV� VKRXOG� EH� FRQVLGHUHG
EHFDXVH�RI�WKHLU�DELOLW\�WR�VHOI�DOLJQ�ZLWKLQ�����

0LOLWDU\�TXDOLILFDWLRQ�
$LUFUDIW� EHDULQJV� IURP�0F*LOO�PHHW� WKH� UHTXLUHPHQWV�RI
8�6��0LOLWDU\�6SHFLILFDWLRQ�0,/�%������DQG�WKH�IROORZLQJ
8�6��0LOLWDU\�6WDQGDUGV�

%HDULQJ�6HULHV 0LOLWDU\�6WDQGDUG
1%& 06������
1%( 06������
1%. 06������
1%) 06������
1%/ 06������
$)& 06������
$/ 06������
+56 06������
&+56 06������

1RPHQFODWXUH�
3DUW�QXPEHUV�IRU�WKH�1%&��1%(��1%.��1%/��$)&�DQG�$/
EHDULQJ�VHULHV�DUH�GHULYHG�DV�IROORZV�
([DPSOH����1%&���=3

<  $QQXODU�OXEULFDWLRQ�JURRYH�LQ�ERUH�DQG�RLO�KROHV�LQ
LQQHU�ULQJ

=  $QQXODU�OXEULFDWLRQ�JURRYH�RQ�2�'��DQG�KROHV�LQ
RXWHU�ULQJ

3  ([SRVHG�VXUIDFHV�FDGPLXP�SODWHG�DV�PRXQWHG
-  2XWHU�GLDPHWHU�DQG�RXWHU�GLDPHWHU�FRUQHUV�FKURPH

SODWHG�DQG�RWKHU�H[SRVHG�VXUIDFHV�DV�PRXQWHG
FDGPLXP SODWHG

<
  )HDWXUHV�SUHVHQW�EXW�QRW�FRGHG�LQ�WKLV�VHULHV
-
  )HDWXUHV�SUHVHQW�EXW�QRW�FRGHG�LQ�WKLV�VHULHV

0RXQWLQJ�
(QG�SODWHV�ZKLFK�DUH�IDVWHQHG�WR�WKH�EHDULQJ�DV�DQ�DLG�WR
KDQGOLQJ�DQG� LQVWDOODWLRQ�VKRXOG�EH�ILUPO\�EDFNHG�XS�E\
ZDVKHUV�RU�RWKHU�FODPSOLQJ�VXUIDFHV�ZKLFK�DUH� IODW�DQG
VTXDUH�ZLWK�VKDIW�FHQWHUOLQH�
7R�SURYLGH�VXIILFLHQW�VXSSRUW�IRU�WKH�HQGSODWHV��WKH�FODPS�
LQJ�VXUIDFHV�VKRXOG�KDYH�D�PLQLPXP�GLDPHWHU�DV�VSHFLILHG
LQ�FROXPQ��&ODPSLQJ�'LDPHWHU���&DUH�VKRXOG�EH�WDNHQ�WKDW
HQGZLVH�SUHVVXUH�RQ�WKH�HQGSODWH�GRHV�QRW�FDXVH�UHGXF�
WLRQ� LQ� HQGZLVH� FOHDUDQFH� DQG� SRVVLEOH� ELQGLQJ� RI� WKH
EHDULQJV�
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� 1%( � �� = 3
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)RU�FRGLQJ�DQG�ORDG�UDWLQJ�LQIRUPDWLRQ��UHIHU�WR�SDJH�����
1%)�DQG�1%/�VHULHV�EHDULQJV�DUH�RQO\�IRU�UHSODFHPHQW�LQ
ROGHU� DSSOLFDWLRQV�� )RU� FXUUHQW� DSSOLFDWLRQV� DQG� IXWXUH
GHVLJQV��XVH�$)&�DQG�$/�VHULHV�EHDULQJV�

6RPH�LQGLYLGXDO�VL]HV�QRW�DYDLODEOH�IURP�VWRFN��&RQVXOW�0F*LOO�&XVWRPHU�6HUYLFH�IRU�DYDLODELOLW\�
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$)&�DQG�$/�VHULHV�EHDULQJV��IRU�WUDFN�UROOHU�DSSOLFDWLRQV�
ZHUH� GHYHORSHG� IURP�� DQG� DUH� LQWHUFKDQJHDEOH� GLPHQ�
VLRQDOO\�ZLWK�1%)�DQG�1%/�VHULHV�EHDULQJV��7KH\�KDYH
KHDY\�VHFWLRQ�RXWHU�ULQJV�DQG�RIIHU�VHYHUDO�DGYDQWDJHV
RYHU�1%)�DQG�1%/�VHULHV�EHDULQJV��/8%5,�',6&��VHDOV
SURYLGH� LQWHJUDO� VHDOLQJ�� UHGXFHG� RSHUDWLQJ� IULFWLRQ� DQG
ORQJHU�UHOXEULFDWLRQ�LQWHUYDOV��7KH\�DUH�PROGHG��PRO\EGH�
QXP�GLVXOILGH�ILOOHG��W\SH�����Q\ORQ�PDWHULDO��&RQWDFW�VHDO�
LQJ�LQ�WKH�RXWHU�ULQJ�FRXQWHUERUH�DQG�RQ�WKH�HQG�SODWH�2�'�
KHOSV�NHHS�JUHDVH�LQ�DQG�FRQWDPLQDQWV�RXW��/8%5,�',6&�

VHDOV�DOVR�HOLPLQDWH�PHWDO�RQ�PHWDO�VOLGLQJ�FRQWDFW��UHGXF�
LQJ�IULFWLRQ�DQG�RSHUDWLQJ�WHPSHUDWXUHV��DQG�H[WHQG�JUHDVH
OXEULFDQW�OLIH��7KH�ULQJ�SRUWLRQ�DOVR�DFWV�DV�D�EDFN�XS�VHDO�
2XWHU�ULQJ�FRXQWHUERUH�FRQVWUXFWLRQ�SURYLGHV�D�ZLGHU�RXWHU
ULQJ� ZLWK� LQFUHDVHG� HIIHFWLYH� WUDFN� FRQWDFW� ZLGWK�� $)&
VHULHV�RXWHU�ULQJ�2�'�
V�DUH�FURZQHG�DQG�$/�VHULHV�RXWHU
ULQJV�KDYH�ODUJH��EOHQGHG�FRUQHUV�WR�UHGXFH�HGJH�VWUHVVHV�
6XUIDFH�SODWLQJ�LV�WKH�VDPH�DV�IRU�1%)�DQG�1%/�VHULHV
EHDULQJV�� (QG� SODWHV�PXVW� EH� SURSHUO\� EDFNHG� E\�PD�
FKLQHG�ERVV�IDFHV�RQ�D�FOHYLV�RU�ZDVKHUV��DV�WKH\�DUH�QRW
LQWHQGHG�WR�VXSSRUW�WKUXVW�ORDGV�
%RWK�W\SHV�FDQ�EH�UHOXEULFDWHG�WKURXJK�WKH�LQQHU�ULQJ�ERUH�
7KH\� DUH� VXSSOLHG� ZLWK� JUHDVH� SUHSDFN� SHU� FXVWRPHU
UHTXLUHPHQW�ZKHQ�VR�VWDWHG��2WKHUZLVH��WKH\�ZLOO�EH�VXS�
SOLHG�ZLWK�JUHDVH�SHU�0,/�*��������0LQLPXP�DQG�PD[L�
PXP�FRQWLQXRXV�RSHUDWLQJ�WHPSHUDWXUHV�OLPLWHG�E\�/8%5,�
',6&��VHDO�PDWHULDO�WR�����)��WR������)�
)RU�FRGLQJ�DQG�ORDG�UDWLQJ�LQIRUPDWLRQ��UHIHU�WR�SDJH����� $/$)&
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1%(�DQG�1%.�VHULHV�EHDULQJV�DUH�VHOI�DOLJQLQJ��KRXVLQJ
RXWHU� UDFH�VXSSRUWHG� QHHGOH� EHDULQJV�� 7KH\� DUH� VHOI�
DOLJQHG�E\�D�VSKHULFDO�RXWHU�UDFH�2�'��PDWLQJ�LQ�D�VSKHULFDO
DGDSWHU�ERUH�DQG�UHOXEULFDWHG�ERWK�WKURXJK�WKH�ERUH�RI�WKH
LQQHU�UDFH�DQG�WKH�2�'��RI�WKH�RXWHU�UDFH��([WHUQDO�VXUIDFHV
H[FHSW�ERUH�DUH�FDGPLXPښ��SODWHG��2XWHU�UDFH�VXUIDFHV�DUH
EODFN�R[LGH�ILQLVKHG�DQG�EHDULQJV�DUH�SDFNHG�ZLWK�0,/�*�
������ JUHDVH� XQOHVV� RWKHUZLVH� VSHFLILHG�� 5DFHV� DQG
UROOHUV�DUH�������EHDULQJ�TXDOLW\�VWHHO�DQG�HQG�SODWHV�DUH
KDUGHQHG�VSULQJ�VWHHO��(QG�SODWHV�DUH�UHWDLQHG�E\�D�VZHGJHG
ULQJ� WKDW�KROGV� WKH�EHDULQJ� WRJHWKHU�SULRU� WR�DSSOLFDWLRQ
DVVHPEO\�
,QQHU�UDFH�KROHV�DQG�JURRYHV�DUH�RPLWWHG�IURP�WKH�������
DQG����VL]HV�EHFDXVH�RI�EROW�VWUHQJWK�OLPLWDWLRQV��7KH�VKDIW
DQG� KRXVLQJ� ILW� GLPHQVLRQV� VKRZQ� EHORZ� DUH� IRU� VWHHO
KRXVLQJV�RQO\��'HFUHDVH�GLPHQVLRQ��������IRU�DOXPLQXP
DOOR\�KRXVLQJV�
1%.�VHULHV�LV�EDVLFDOO\�WKH�VDPH�DV�WKH�1%(�VHULHV�H[FHSW
IRU�DQ�LQWHJUDO�ULE�RQ�WKH�2�'��RI�WKH�LQQHU�UDFH�DQG�WZR�URZV
RI�IXOO�FRPSOHPHQW�QHHGOH�UROOHUV�
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1%&� DLUFUDIW� QHHGOH� EHDULQJV� DUH� VHOI�FRQWDLQHG�� RXWHU
UDFH�KRXVLQJ�VXSSRUWHG�EHDULQJV�KDYLQJ�D�IXOO�FRPSOHPHQW
RI�VSKHULFDO�HQG�UROOHUV��([WHUQDO�VXUIDFHV�H[FHSW�ERUH�DUH
FDGPLXPښ��SODWHG��%HDULQJV�DUH�SDFNHG�ZLWK�0,/�*������
JUHDVH�XQOHVV�RWKHUZLVH�VSHFLILHG��5DFHV�DQG�UROOHUV�DUH
������EHDULQJ�TXDOLW\�VWHHO�DQG�HQG�SODWHV�DUH�KDUGHQHG
VSULQJ�VWHHO��(QG�SODWHV�DUH�UHWDLQHG�E\�D�VZHGJHG�ULQJ
KROGLQJ�WKH�EHDULQJ�WRJHWKHU�SULRU�WR�DSSOLFDWLRQ�DVVHPEO\�
7KLV�VHULHV�LV�RUGLQDULO\�VXSSOLHG�ZLWK�OXEULFDWLRQ�JURRYHV
DQG�KROHV�LQ�ERWK�LQQHU�DQG�RXWHU�UDFHV�
,QQHU�UDFH�KROHV�DQG�JURRYHV�DUH�RPLWWHG�IURP�WKH�������
DQG����VL]HV�EHFDXVH�RI�EROW�VWUHQJWK�OLPLWDWLRQV��7KH�VKDIW
DQG�KRXVLQJ�ILW�GLPHQVLRQV�VKRZQ�DUH�IRU�VWHHO�KRXVLQJV
RQO\��'HFUHDVH�GLPHQVLRQ��������IRU�DOXPLQXP�DOOR\�KRXV�
LQJV�
)RU�FRGLQJ�DQG�ORDG�UDWLQJ�LQIRUPDWLRQ��UHIHU�WR�SDJH�����

'
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0F*LOO�PDQXIDFWXUHV�LQWHJUDO�VWXG�W\SH�DLUIUDPH�EHDULQJV
LQ� DFFRUGDQFH� ZLWK�06�������06������ DQG� 1$6����
VWDQGDUGV��DV�ZHOO�DV�VSHFLDO�PRGLILFDWLRQV��&RQVXOW�0F*LOO
&XVWRPHU�6HUYLFH�IRU�DYDLODELOLW\�

*HQHUDO�HQJLQHHULQJ�GDWD
7KH�LQWHJUDO�VWXG�W\SH�DLUIUDPH�WUDFN�UROOHU�IRU�FDQWLOHYHU
PRXQWLQJ�VKRXOG�EH�DSSOLHG�RQO\�DIWHU�WKH�IROORZLQJ�GHVLJQ
IHDWXUHV�DUH�FRQVLGHUHG�
�� 7KH�OLPLW�ORDG�OLVWHG�LQ�WKH�WDEXODU�PDWHULDO�LV�IRU�UROOLQJ

HOHPHQWV�RQO\��WKHUHIRUH��VWXG�VWUHQJWK�PXVW�EH�FRQ�
VLGHUHG� IRU� DFWXDO� PD[LPXP� ORDG� FDUU\LQJ� GHVLJQ
OLPLWV�

�� 7UDFN� FDSDFLW\� PD\� VXSHUVHGH� EHDULQJ� IDWLJXH
FDSDFLW\�

�� 7KUHDGV� RQ� DOO� EHDULQJV� OLVWHG� LQ� WDEXODU� PDWHULDO
FRQIRUP�WR�0,/�6������IRU�&ODVV�81-)��$�

�� 3URSHU� KRXVLQJ� VXSSRUW� LV� LPSHUDWLYH� IRU� RSWLPXP
SHUIRUPDQFH��6WXGV�PXVW�EH�VXSSRUWHG�XQLIRUPO\�ZLWK
PRXQWLQJ�KROHV�VTXDUH�ZLWK�ERVV�IDFHV��-XQFWLRQ�RI
ERVV�IDFH�DQG�PRXQWLQJ�KROH�VKRXOG�EH�NHSW�DV�VKDUS
DV�SRVVLEOH�ZLWKRXW�EXUUV�

�� %HDULQJV� SDFNHG� ZLWK� 0,/�*������� JUHDVH� XQOHVV
RWKHUZLVH�VSHFLILHG�

7KH�FRGLQJ�RI�WKH�+56�DQG�&+56�ZLOO�EH�DV�IROORZV�

&RWWHU�3LQ
%DVLF +ROH *ULS�/JWK�

7\SH 6L]H 3ODWLQJ 5HOXE� 5HTXLUHPHQW 6HDOV LQ�����WKV

+56�²�6WDQGDUG�EHDULQJ�ZLWK�VWXG�KHDW�WUHDWHG�WR������
5RFNZHOO��&��VFDOH�
&+56�²�6WDQGDUG�EHDULQJ�ZLWK�VWXG�KHDW�WUHDWHG�WR������
5RFNZHOO��&��VFDOH�DQG�FURZQHG�UROOHU�2�'�
&�²�([SRVHG�VXUIDFHV�RI�WKH�RXWHU�UDFH�FKURPH�SODWHG
�������PLQ��7KH� UHPDLQLQJ�H[SRVHG� VXUIDFHV� FDGPLXP
SODWHG�
7�²�/XEULFDWRU�LQVWDOOHG�LQ�WKUHDGHG�HQG�RI�VWXG�DQG�FRWWHU
SLQ�KROH�ZLOO�EH�HOLPLQDWHG�
.�²�6WXG�VORWWHG�WR�UHFHLYH�DQ�1$6�����ZDVKHU�
)�²�/XEULFDWRU�LQVWDOOHG�LQ�IODQJH�HQG�RI�VWXG�
$�²�1R�FRWWHU�SLQ�KROH�LQ�WKUHDGHG�HQG�RI�VWXG�
5�²�6HDOHG�EHDULQJ�
3�²�([SRVHG� VXUIDFHV� RI� RXWHU� UDFH� FDGPLXP� SODWHG�
5HPDLQLQJ�H[SRVHG�VXUIDFHV�RI�HQG�SODWH��IODQJH�DQG�VWXG
DOVR�FDGPLXP SODWHG�
([DPSOH��+56��&7��²�%HDULQJ�W\SH��+56��LQGLFDWHV�KHDW
WUHDWHG�VWXG������LQGLFDWHV�D������VWXG�GLDPHWHU�������2�'��
DQG������RXWHU�ZLGWK���&��LQGLFDWHV�FKURPH�SODWHG�RXWHU�
�7��LQGLFDWHV�OXEULFDWRU�LQ�WKUHDGHG�HQG�RI�VWXG�DQG�FRWWHU
SLQ�KROH�RPLWWHG������LQGLFDWHV�D�JULS�OHQJWK�RI�������RU������
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